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CURRENT ELECTRICITY
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A . cummentEECTRICTY

1) State Kirchhoff's law for an electrical network. Using these laws deduce the condition for balance in a Wheatstone

\%

bridge.?

A) Kirchhoff's First law :

At any junction the sum of the currents entering the junction is equal to the sum of currents leaving the junction.
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Kirchhoff’'s second law : I/~\ f T _\,:
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The algebraic sum of charges in potential around any closed loop involving resistors and cells in thge loop s zero. 22: o
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Wheat stone bridge :-
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F/\ 2) State the working principle of potentiometer. Explain with the help of circuit diagram how the emf of two primary
’_—’- L /

cells are compared by using the potentiometer ?
- —— —

A) Principle of potentiometer :-
S e e

The potential difference across any portion of the wire is directly proportional to the length of that Portion.

Vol

/
V= ¢l
Comparigg,em?ﬁrtwo cells using potentiometer :
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3 3) State the working principle of potentiometer. Explain with the help of circuit diagram how the potentiometer is used
/ —
to determine the internal resistance of the given primary cell.?

—— —
— ——

A) Principle of potentiometer :-

The potential difference across any portion of the wire is directly proportional to the length of that Portion.

Vol
V= ¢l

I /
Determination of Internal resistance of a cell using potentiometer :
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@«\ 4) In a potentiometer arrangement, a cell of emv gives a

balance point atcm length Of the wire. If the cell is replaced by

another cell and the balance point shifts at is the emf

of the second cell?
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o0 5) A potentiometer wire i@ong and a potential difference o@s
@7 T — . . .
maintained between its ends. Find the emf of a cell which balances

P A
against a length §f 180)cm of the potentiometer wire.

A)

g, - CcV
’('z":l?ocm E :z.lc\/)

'{”YMZS-@CM

Ji= -2 2 5760 -(30 = Grgem

© Copyrights 2022 by Rizee/ A Product of MylLearning Plus Pvt.Ltd




THANK YOU

@Copyrights 2022 by Rizee/ A Product of MyLearning Plus Pvt.Ltd

© =n

A 0


https://t.me/rizeeofficial
https://www.facebook.com/Rizeeofficial/
https://www.instagram.com/rizeeofficial/
https://www.youtube.com/channel/UC2u3tTpRpC2PYdZ7KF7rO0w



